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25 0000

xmax 1000.000e—3 // O00O0O00Ox [m]
xcavity 50.000e—3 // 00O0O0O0OO [m]
ycavity 50.000e—3 // 0O0D0D0O0DO [m)]
xneck 10.000e—3 // ODOO0OO [m]
yneck 20.000e—3 // OOO0O [m]
yspace 500.000e—3 // DOOODO

ymax 570.000e—3 // OOOOOy [m]
tmax 6.000e—-3 // O00OOO [s]

dh 5.000e—4 // 000000 [m]
dt 1.000e—6 // 000000 [s]
c0 3.435e2 // 00000 [m/s]

row0 1.205e0 // OO0OO0OO [kg/m"3]
xdr 500.000e—-3 // DOOO0OOx [m]
ydr 150.000e-3 // 00000y [m]

m 1.000e0 // DODOO0ODODODOOODOO
[m3/5 ]

a 2.000e6 // DOOOOOOOOO [—]
t0 2.000e—3 // DOOOOOOOOOOO
[s] 250Hz (cut off)

pl 16 // OOPML [-]

pm 4 // 000O0OO0O0O0O0OOPML [—]
emax 1.500e0 // 00O0OO0OOOPML
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